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Name A ﬂﬁ\/\/"@f/ }<€,{}4

Radical Expressions—Multiplying, Simplifying

1. Work each exercise.

FACTS ABOUT YOUNG ANIMALS

2, Find the code leiter for the correct answer,

3. Write the code letter in each blank having that exercise number.

Exercises
Multiply and simplify.
1. V5/T75=5/3 R
A 2. /B3
6 3. v7Via
Va4, VIT/TT
Os5. VI0vZ
V6. VEVE
U7 V128
T 8. /183
V9, vz T
P 10. +/33+/10b

w11 TaTa

E12 V3x2y vy
713, 19662 \/3ab

& 14, T334 215
L 15. v/30a/6ab
£16. /375

T 7. TaxyZ /2Tx7y
?18. V/8ab/Ba
W19, V1246

S 20, v/26x3y5 /13x%y

What Is the nome of a young ..

kangaroo? J_ O

375 6
hare? L. ENV € R T
1221 9 21 1 12 8
salmon? ﬂf‘:_&
10 2 18 16
pigeon _5__@.“&)“&_5_
2 14 7 2 18
swan? ;ﬁ_m_@}iu_i
i 23 6 3 11 21 B
quail? L&EE____E/;& r
23 22 12 2% 10 12 16
el E LV EK

__..........__...___.._____.
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E2L XZIN6yT

C:J:H._J

C 23. \/75a6+/5a

H 22

(Kz4 V3IXx=0/€x =18

Code
Letter

Simplified
Answer

<« E<CCH Y FOTOZErA——"ZIOTMOoOAN® >

/6

8a/b
Sa\/156
6ab\/5
xy\/6

3v5

W2
x—-1)vZ
Txyv/6xy
6ab+/b-

3(x —3)y/7
6av/5b
13x* y/ Iy
Ja

24/5
5+/2ab
Ix3y/6
53
13x23 2%
3v6

48

11

62

43

.o
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Name

Radical Expressions—Simplifying Fractional Radicands, Approximating Square Roots of Fractions

1. Work each exercise,

HIDDEN MESSAGE

2. Shade in the block that contains the answer.
3. Read the message in the unshaded blocks.
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Exercises
Simplify.
/16 _ 4 /25 Ax? Approximate to
1. 25 5 10 x2 19. 9y2 three places,
48 _ /36 ‘ w i
2 36 . a2 20. 10042 27. 3 K )f-b
106 _ /30 3 1 7
3. m 12 522 21. < 28, /; %\\({ |
l a<b 2 2 i TA
a. /; | 13, ot 2. ‘/; . 2, \/g W&
4 9q4¢ 1 ;
5. - /& . /-2 B. /& 30. \/@;/ 5
i 250 YA j
8 V5w 1. 490 24. ~/; 3. V3§
8 X 3
/5 16. /55 2, \/;
-‘§~ X2 F] X .
8 /2 17. /XL %. /%
288 1690
2 50 18 2250
e 23. W 1l
w iR | s |"s ["L |Y ["o [TH
a A 2 12 Xy - _5 3
» 3b\/c_ 3‘/_6' 3\/€ 5 4 10 ] 3
2% ! 7
°1 o | p.| U |'P [T I | L
—J—g 0.707 1,153 0.576 %\/—Tx Y -5 %\/3“ 2\/c
7 13 ' 7 } 73 27
s p [My ?/% P "1 PL [Po
27 ab 15 /i/ 0.717 2x 177 0.577
3 5 ’ X
c | 3 U5 v |
W 2D - ) 25 ) Liz it
E w P E |°H E Y W
= 1.155 2 %\/57 2 1.913 %\/—xy %?i
39 3 Z\ ] 20 2 -'
S U T N E R R |9s
10 1 2 w 7 g
1.915 10 V5 2 = Z 0.639 0.632

e T,

ettt

|
!
i,
§

i

R —
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Radical Expressions—Adding, Subtracting

1
DOT-TO-DGT PUZZLE

1. Work each exercise,
2. Find the dot by each answer and connect the dots in order,

Exercises
Add or subtract. ) .

1. 23 +3V3=35V3 16. V98 — /7

2. 835 —2/% ' 17. 3W8+/18 —32

3. VX +/x 18, 227 +V12—-48

4, 33 /27 19, +/73x7 +/18x

5 IW2T—6y2 20. /T00x3 —+/49x3 _

6. 3Vx +64/x 21, /B 505 2 X0, Al Y\/{)

AN RN BA2p43 (22, T2+ 12 +4/3X+3 CE\\‘ Cﬁ\w

8. 11Va—4va 22x-2(23, VT8 — 18—

9. 13vx — X 24, 5xvxyt 2R3y - w,@"f\ig
10. 34/8+3y/7 . . 5-/I o LN
1. 5V/12-3v3 = 5{x-y) ‘\E@{?&?’\/zﬂx —yP +/12x = 5\ O}‘

12, V125 V20 27, JT-V3 )
13. V73 /12 28. 3WZ+10v/ L
14. V8++/30 29. 3 +J/2
15. /300 — /12 30. vVZ-v¥
34/3x +3e
22 2
7xy\/f)7
o5 —y)v3lx -y
057 8V2
$V7e
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Radical Expressions—Dividing, Rationalizing Denominators

FACTS ABOUT NOBEL PRIZES
1. Work each exercise. Cod Simplified
2. Find the code letter for the correct answer, L;t:r :::1':\;;
3. Write the code letter in each blank having that exercise number, ) i
A 6
Exercises B | V7
Divide and simplify. C xv3y
Vv 75%3 V3 y
T _—\/_ VB | 1, N 1 20. 7_%- D 1
E 3
B 2 YH A 12, Y10 Y o, V2 )
\/5 ‘\/4')( . W F Tﬁm
. VLT . v12x3 G 5x
3. =2 13. V2
V35 C i 22 e " 1
- 8
243 N]"’. 1624 6
Ng. "7 NGY 173, 7 | V6
. 1
A s LB s, W Vi VT
"5 3/ 10x \ 24, v K V3
C 2 i
Y6 YZ W 16 Y3 T s 2 | Lo| 23
\\? Ve 7V 19 M | 16
2 -
7. e — 3 26, 2y 150 N 9
K ? 117 % > 152 o ]
5 4 5
O 8. m" ]375 P 5)(2
X
(y 9. Y2 £y 18. Jx R | %
V50 3 S 2.3
g Vi TV
F10, V18 19, NG T.| 3
Vax 14
U 7
v Vxy
y
Who won the Nobel Prize , w 2V5
; 1
in Physics in 1971? Eﬁﬁﬁ_‘_i @&g;ﬂ_e_ (BritlSh) v V1
B 10 4 14 1 26 18 5 2 9 7
in Peace in 19757 ﬁ _]_\_’_ _D_ & _j k éﬂ ﬁém E_ il m/:!_r - Q _;\Ji (Russian)
5 14 8 7 10 1 6 5 6 19 5 7 9 24 J
in Literature in 19547 §__E E_ _‘;__{:?%T__ _\’L ,g; _;Ej __3__ _Ii Q ﬂ ,{ér_ :\L/_ {American)
0 7 14 10 26 17 19 10 22 20 14 18 16 12 21
in Chemistry in 19547 L LN }L_@_ Y & S_ g B ﬁ Q {American)

by
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4 18 '

CE C < (British}
137 1 13

TS5 0N {American)
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Quadratic Equations—Solving Equations of the Type (x + k)2 =d

HIDDEN MESSAGE

1. Work each exercise.

2. Find both sclutions on the diagram.

3. Shade in both regions that contain those answers.
4. Read the message in the unshaded regians.

Exercises

Solve. .

1. (x+3)2=49 4,—10 6. (x—102=121 2i," | 9. (x+5)2=7 ~5 EF
2 (x+22=253% % 7. (x—2)2=16 (o -2 10. (x~2)2=3 2 4 {3

3. (x+4p2=1-3,"5 8 (x+7)P=1 =(p,~3 1. (x+1)2=5 —{ £J5

(x—6)2=36 17,0
(x—8)2=9 li,%/

noe

.' Ig//
N

12. (x—6)2=2 (_pi:\fi;.
13. (x —2)2=11 24U

z

.*

G

(©) 1978 Addison-Wesley. All rights roserved.
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Making Practice Fun 92
Quadratic Equations—Solving Equations of the Typeax? =k, ¢ 0

Name

" SECRET MESSAGE

1. Work each exercise,
2. Find the code letter for the correct answer.

3. Write the code letter in each blank having that exercise number.

Exercises

Solve,

1.x2=9 x=3,3 E (23, 18x* —50=0
R 2. x2=81 S24. Ix2—25=0
L-3. x2 =64 U 25. 3x2 —36=0
T 4. x2=100 S 26. 14x2 = 50=0
F 5. x2=121 5 27.-7x* —-56=0
6. x* =169 A28 4y? —5=39
T7. x%= ' =29 8 8x% —21=51
O 8 x?=3 M 30. 6x* ~6=0
V 9. 3x% =21 A 31 2%2 +18=40
D 10. 2x* =20 B 32 x* - 75=94
T 11 3x% =300 F 33, 4% —20=0
G 12, 5x2 =40
C 13, 9x? - 25=90
E14. 4x? —36=0
J15. 4x2 =48
Y16. 5x% —75=0
RI7. %% —162=0
E18. 5x2 —45=0
T19. 3x2 —15=0
B20. x%2 —15=86
F21. 7x2 —63=0
£22. x2 —11=70

You'll get a charge out of this!

@£1£19g£2£i£
12 11 9 1 % 8 15 17 24 14 3
CRepPpIT usSe
13 20 18 10 4 19 25 26 1

A TE (o =
yﬁ“ﬁ%az?"ﬁ“ﬁ%%%%nﬁ

Code
Letter Answers

V1T, ~y/T1
V2,3
3.3
V10, —/10
3, -3

11, 11
22, 27
13, -13

10, —10

N VT
5! H

8, -8

1,-1

15, =15

v3,—V3
7,—7

9, -9
f VT

V5 -5
24/3,-24/3}.

V7, —T

5+/3, =53

V15, /15

—<s<c—lmx'=02§|—x"::m-nmcow>
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